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QUESTION 1

What is the logically isolated network that you create in Amazon Web Services (AWS) to be used with Cloud Volumes
ONTAP?

A. Virtual Storage Area Network (VSAN)
B. Virtual Network (VNet)

C. Virtual Local Area Network (VLAN)
D. Virtual Private Cloud (VPC)

Correct Answer: D

QUESTION 2

You are currently performing all the important administrator and maintenance tasks for your system, and need to
delegate work to the staff so that you can attend to other issues.

Which approach will you take to ensure that your systems are safe?
A. Provide all users with power user access.

B. Employ mandatory integrity control.

C. Provide all users with administrator access.

D. Employ the principle of least privilege.

Correct Answer: C

QUESTION 3

Which tool do you use to administer a NetApp Kubernetes Service cluster manager?
A. kubectl

B. kubeadm

C. clustershell

D. helm

Correct Answer: D

QUESTION 4

What are two functions of FlexGroup volumes? (Choose two.)
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A. massive capacity

B. ability to hold LUNs

C. nondisruptive scale out
D. ideal for small workloads

Correct Answer: BC

QUESTION 5

What are two benefits of implementing NetApp Cloud Sync? (Choose two.)
A. to leverage native SnapMirror technology to retain storage efficiencies
B. to consolidate storage management into one administrative tool

C. to automate data migration processes, on-premises or to the cloud

D. to provide a secure data synchronization service

Correct Answer: CD
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